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Prepare  a  few

numbered  cards
(here I've gone for
1-18, at  the

conference 1 opted
for 1-30 but there's
no limit really).

It goes a bit like this...

Me: Pick a number from one to nine.
Student: Um, six?

Me: Ok. I'll give you the first 12 cards
then. Put them into two piles of six
(completely your choice), with one pile in
ascending order and the other in
descending order. Then work out the
difference between the  corresponding
number in each pile and total these.
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No matter what number is picked first or
the choice of numbers in each pile, or the
ordering of the piles, he answer will always
be the initial number squared!

This amazing trick is called Proizvolov's
Identity after Vyacheslav Proizvolov who
presented it as a problem in the 1985 All-
Union Soviet Student Olympiads.




